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AN & 200 g 54 32 | HrA S = — — —

LA = R 250 g 108 64 | HELMNA BIRE 10 ke 2, 700 1, 404

ZEOR @ [ 200 g 54 | 32 | WA — - - -

ES AT D £ R 200 g 97 10 | »U ' & 10 ke 3, 664 1,296

FhE = B 8 ke 3, 024 648 | T AL E— & B 270 g 378 194

LwAEL x B 160 g 108 86 | WD = B 270 g 378 194

— — — — — | ER’EDH BB OAR | 270 g 410 =

TN A B I 10 ke 810 — || 7= A AT TG 9 ke| 16, 200 5, 400
BEECA A ™ B 10 ke 1, 728 756
X< &N I 15 ke 1,296 | 864
XY T & 10 ke 756 | - —
L xR % O 10 ke 3,240 | 1,620
XY T IG 5 ke 2, 376 1,512
Aoch m A 5 ke 1, 836 —
k= bk e A& 4 ke 1, 728 —
|V = A 150 g 97 —
EZAED FE L 2 ke 3, 240 2, 160
Lok BIRE 10 ke 1,944 1, 404
TmERE sl 10 ke 1, 620 1, 404
A LT m OB 100 g 140 | - 75
LU £ B 100 g 43 27
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£E A K lke | = 2,484 1,080 || ¥ TAUK lke | 2,160 1, 080
HESAHE R 1ke 3, 391 64 | P T =— 1 ke 1, 080 432
V% N~ 1 kg 1,512 | 205 | &# T =0 1 ke 1, 836 1, 296
P B 5 1ke 1, 890 129 | A | Foak i 1ke 1,512 | 626
AT K & 1ke 248 108 | FU A T E 1ke 4, 320 1,188
AV A A T — — — — | BTy~ ALHHE 1 # 172 54
FE N F N 1ke | 1,350 486
HEA = IR 1 ke 1, 404 540
&&= ®m 5 1 kg 2, 700 2, 160
INTE X 4 1 kg 2, 700 756
VD, AE AR 1ke 1,080 432
¥ A B 1 ke 4,320 | 259
B A IR B l1ke 1, 404 432
== 3. REIRS 1 ke 1,782 918
TUZ w5 1 kg 2, 160 648




